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A AR (@A) - AR - B Ao i3a ) 1% 7}
! 97,981 278,948 A180,967
q4 A& 21,084 184,200 A163,116
1978 A &7d st 13,364 181,000 A 167,636
7herd A 10,364 0 10,364
101 Q1714 5,039 0 5,039
10 7| ATEZA SR 5,039 0 5,039
OE7F YUY
38,1700 +3U *4 *114 = 5,039
201 ARk H| 5,325 0 5,325
01 AFE#EH 5,325 0 5,325
O=7kA1 4 & A= = 3,400
OF-Atdiek % YA A T A
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ANAA 7 s F 2,000 0 2,000
201 GnHk-e-gH| 2,000 0 2,000
01 ARE#En 2,000 0 2,000
OAYPAIE &35 A1 A THE A 2,000
-dA5 100,000 1078 = 1,000
- ZTRAY 1009050001 %23] = 1,000
AAGALGst A A F 1,000 1,000 0
203 4214 1,000 1,000 0
03 AlAFAY 1,000 1,000
OAY AA 7l = 1,000
Ta71d $4 A 7,720 3,200 4,520
el ol 2 7IgAY =3 2,000 1,200 800
201 LRk 2,000 1,200 800
01 AHFE-#aH| 2,000 1,200 800
O719414 = A 2
1,000,000 %12] = 1,000
o714 Z#7 shot= A2
2,0009 #5007 = 1,000
2719 AE B2 FR 1,000 2,000 A1,000
201 Gk H| 1,000 2,000 A1,000
01 AHF-¥2H| 1,000 2,000 A1,000
OFa71d A% AANG w98d BF
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Z1del & A 3 1,120 0 1,120
201 4wk 1,120 0 1,120
01 AR R 1,120 0 1,120
O7Iefzsj At A9 A3 3] 3
70,0009 *8™ 23] = 1,120
7ol ® A H gAY S8 AlE g 3 600 0 600
203 3314 600 0 600
03 Al A FXHF-FX1H| 600 0 600
O71el& 4 2 71949 §4 75
2 = 600
AR mAREsE A Y 3,000 0 3,000
307 W1zkol A 3,000 0 3,000
04 WIZFPAE % 3,000 0 3,000
OAGZA w2 A 31§ A33) = 3,000
A el B AFEA &Y 8,045 797 7,248
yvA ekd 2 FEAA 1,098 797 301
uA 5 A 2 TH A FTH 800 510 290
201 LHk-e-gH] 800 510 290
01 AFFE#EH 800 510 290
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206 A E.1] 298 287 11
01 AgH] 298 287 11
oA ¥4 AA A= 74 298
— 3 1,50090%1.5 0 %27} %3370 & = 149
- A% 1,250 %1 ¢ 270337 & = 83
-5 1,0009 %1 ¢ #27] %337 & = 66
AFAA A= 6,947 0 6,947
A7 A7 AL 6,947 0 6,947
101 <1234 5,567 0 5,567
10 7ATEA S B 5,567 0 5,567
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38,170 #4 %259 = 3,817
OAZ7] B717HAF 71AE A5
70,0009 x 19 %259 = 1,750
201 Gk H] 1,380 0 1,380
01 AHFF2H| 1,380 0 1,380
OAZE7] B717AE A4 Q14 380
- AAES 60+2,000m) = 120
- &AA 50¢1+2,000m) = 100
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OAZ7] B71ZAE R d =2+
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AL 2oy dAow FALA HA 19,844 39,550 ~19,706
AT A 19,844 39,550 ~19,706
T4 T8 T 2E 31 18,044 6,600 11,444
201 PRk g H] 18,044 6,600 11,444
01 A n| 18,044 6,600 11,444
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100,000 #24% = 2,400
OTAF8 A FHA8d 45 THE
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—CD -9 (1007%) 50,0009 %10% = 500
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100,000 %107 = 1,000
OA AN st= A&7 15,0009 129 = 180
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3,000,000 #13] = 3,000
OB=E &£27 584 55 1§ 2,044
e R R 436,000 15 = 436
- FEFE ) 436,000 35 = 1,308
- RS oA A= 300,000 15 = 300
OxrdE &2 FHE AAF Az 5,000
-71dEF A 20,0009 #2504 E = 5,000
O"F4ATA " A9 73
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AANTG T3 1,800 1,800 0
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203 Y F-F%1H| 1,800 1,800 0
03 Al A FZ 7] 1,800 1,800
OAAMNT 753 1,800
BN (AA RS 49,008 54,401 A~5,393
2 8- H 4,200 3,360 840
HEE L] 4,200 3,360 840
203 3314 4,200 3,360 840
04 HF-AEFHF-FXIn| 4,200 3,360 840
OAY 3091 o]} 350,00099%12¢ = 4,200
71373 44,808 51,041 A6,233
7] 273 A 44,808 51,041 A6,233
201 YWk g H] 6,408 12,161 N5,753
01 AHE-#an| 6,408 12,161 A5,753
OFALE-A| 819
- M 14,190 508k = = 710
—B4 21,650 59k = 109
OF2gE(EY, =) 88,0009 %37 = 264
OZHE EY 175,000 * 1t #33] = 525
OF-A Q71 &5-81] 10,0009 16™ x12Y = 1,920
OAIZre] 52k 3249
5,000 34 x16 «12Y = 2,880
202 o] 38,400 38,880 A480
01 =fedn] 38,400 38,880 480
OF o H] 200,000 x16™ «12% = 38,400




